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ECONOMICS — GENERAL
Paper : SEC-B-1

(Economic Data Analysis and Report Writing)

Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.
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15 16

12 4 10 5 

172 cm 18 cm
65 kg 9 kg

byx = – 3/2 bxy = – 1/5 Var (x) Var (y)

Graph Paper 

1 2 3 4 5 6 7

 (`) 500 900 300 400 850

 (`) 225 600

 (Inches) 60 - 62 62 - 64 64 - 66 66 - 68 68 - 70

f 35 27 20 13 5

USA, UK, 2005-2008 
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n = 10 ;  x = 140,  y = 150, (x – 10)2 = 180

 (y – 15)2 = 215;   (x – 10) (y – 15) = 60 

[ English Version ]

The figures in the margin indicate full marks.

Group - A

1. Answer any ten questions : 2×10

(a) Differentiate between variable and attribute.

(b) Mention two uses of Pie Chart.

(c) Write down two advantages of graphical representation of statistical data.

(d) What is tally mark?

(e) Define frequency polygon.

(f) If 2u = 5x is the relationship between x and u. Geometric mean of x is 1. Find the geometric mean
of u.

(g) Arithmetic mean and geometric mean of two positive numbers are 25 and 15 respectively. Find
their harmonic mean.

(h) Find median of the following observations :
3, 5, 1, 2, 4, 6, 0, 2, 2, 3

(i) Find range of the following observations :
–6, –9, 0, 1, 4, 8, 2

(j) What is gini coefficient?

(k) What is scatter diagram?

(l) Define Standard Deviation.

(m) If two regression lines are mutually perpendicular what will be the value of correlation coefficient?

(n) Give the importance of bibliography?
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(o) Classify the following (with reason) characters as attribute, discrete variables or continuous
variables : –

Temperature reading, Division of marks in an examination.

Group - B

Answer any four questions.

2. (a) Arithmetic mean of 9 items is 15. If one more item is added to the series, then the mean becomes
16. Find the value of 10th item.

(b) A person travelled 12 miles at 4 miles per hour and 10 miles at 5 miles per hour. Find the average
speed. 2½+2½

3. The mean and standard deviation of height of a group of employee of a firm are 172 cm and 18 cm
respectively, while the same for weight are 65 kg and 9 kg respectively. Compare the variability of height
with that of weight. 5

4. Write a short note on Lorenz Curve. 5

5. Write a short note on Literature Survey. 5

6. If  byx = – 3/2 and bxy = – 1/5. Find Var (x) and Var (y). 5

7. Describe the principal characteristics of a good average. 5

Group - C

Answer any four questions.

8. Differentiate between line chart and bar chart. Draw a suitable diagram on the basis of following data.

Days 1 2 3 4 5 6 7

Profit (`) 500 900 300 400 850

Loss (`) 225 600

[Use Graph paper] 2+8

9. Find Arithmetic mean and Standard deviation from the following distribution : 6+4

Height (Inches) 60 - 62 62 - 64 64 - 66 66 - 68 68 - 70

f 35 27 20 13 5

10. Explain the following terms :

Class limit, Class boundary, Class mark, Class width, Cumulative frequency. 2+2+2+2+2



( 5 ) T(6th Sm.)-Economics-G/(SEC-B-1)/CBCS

11. Prepare a blank table to show the export of three companies of five countries : USA, UK, Japan, France
and Germary during 2005 - 2008. 10

12. n = 10 ; x = 140, y = 150, (x – 10)2 = 180

 (y – 15)2 = 215;   (x – 10) (y – 15) = 60.

Calculate correlation coefficient. 10

13. Write short notes on any two : 5+5

(a) Motivation in research

(b) Objective of research

(c) Pie chart

(d) Limitations of correlation coefficient.


